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5 energy stored in your food is transferred by all the
reactions that take place in your body.

The menstrual cycle lasts 28 days: It is the reproductive
cycle in women and is brought about by hormones.

Oestrogen is the main female reproductive hormone. At FSH - . S
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7 . Oestrogen Ovaries . -
non-hormonal methods of contraception Stimulates pituitary gland to make LH
The pill is an oral contraceptive that contains oestrogen to
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Progesterone Ovaries Maintains the lining of the womb

9 prevent the sperm reaching an egg. Advantage- Protect
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Homeostasis is the regulation (balance) of the internal
conditions.

Blood glucose concentration is monitored and controlled
by the pancreas

The control of blood glucose concentration is an example
of negative feedback ensuring in any system changes are
reversed and returned back to the set level.

Diabetes is a condition that causes a person’s blood sugar
level to bceome too high

Type 1 diabetes is where the pancreas fails to produce
enough insulin, it is treated with insulin injections

Type 2 diabetes is where the body cells no longer respond
to insulin, it is treated with lifestyle changes such as
carbohydrate controlled diet and exercise

BMI( Body mass indicator) can be used to calculate
whether a person’s weight lies within a healthy range.
Waist to hip ratio should be considered alongside the BMI
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The PANCREAS releases INSULIN
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The PANCREAS releases GLUCAGON
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BMI= mass (kg) =

(height (m))?
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